## RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL (Establishing the Livestock Facility Program within the Natural Resources Department)

RESOLUTION NO. 2000-239

| 1  | WHEREAS,  | the Livestock Facility Program is under the direction of the Natural Resources  |
|----|-----------|---|
| 2  |           | Department; and   |
| 3  | WHEREAS,  | the Natural Resources Program has been responsible for maintaining the use of the   |
| 4  |           | facilities; and   |
| 5  | WHEREAS,  | the Tohono O'odham Nation Natural Resources Department FY 2000 budget   |
| 6  |           | establishes funds for the Livestock Facility staff consisting of the Livestock Facility   |
| 7  |           | ${\bf Manager and Secretary who are full time employees of the Tohono O'odham Nation;}$   |
| 8  |           | and   |
| 9  | WHEREAS,  | themissionof theLive stockFacilityistoover seetheTohonoO'odhamNation'scattle  |
| 10 |           | industry; to inform and assist the live stock ranchers on how to properly manage and  |
| 11 |           | develop  the  Nation's  range  lands  and  to  sell  alfalfa  hay  from  the  Nation's  farms  to  the  Nati  |
| 12 |           | public at lowered costs; and  |
| 13 | WHEREAS,  | establishment of programs to manage the Livestock Facility under the Natural  |
| 14 |           | Resources Department is to provide a center for complete animal protection, care,   |
| 15 |           | and marketing for the livestock on the Tohono O'odham Nation; and   |
| 16 | WHEREAS,  | the Livestock Facility is also intended to serve as center for the training and   |
| 17 |           | education of cattlemen and youth in all areas of ranching and livestock handling;   |
| 18 |           | and   |
| 19 | WHEREAS,  | the Tohono O'odham Livestock Facility has developed a Plan of Operations that will  |
| 20 |           | be utilized in the operation of the facility for the benefit of the Nation and its  |
| 21 |           | members; and  |
| 22 | WHEREAS,  | the Tohono O'odham Livestock Facility had also developed and implemented  |
| 23 |           | policies and procedures for the use of the complex and the facilities.  |
| 24 | NOW, THER | EFORE, BE IT RESOLVED by the Tohono O'odham Legislative Council that:   |
| 25 |           | 1. Establishment of the Livestock Facility Program with the Natural Resources   |
| 26 |           | Department in the form of the proposal hereto is hereby approved.   |
| 27 |           | ${\bf 2.}  The  Live stock  Facility  Program  Plan  of  Operations  is  approved  and  the  Chairman  approved  and  the  Chairman  approved  appro$ |
| 28 |           | of the Nation is authorized and directed to implement the Livestock Facility  |
| 29 |           | Program as described therein.   |

1 2

3

4

5

6

7

8

10

11 12

13 14

15

20 21

26 27 28

29 30

31 32

33

34

35

36 37

38

43

TOHONO O'ODHAM LEGISLATIVE COUNCIL

Dennis Ramon, Legislative Chairman

| APPROVED                      | on the <u>9</u> day of <u>June</u> , 200              |
|-------------------------------|---|
| [ ] DISAPPROVED               | at <u>2.'/2</u> o'clock, <u>P</u> .M.                 |
|                               | Havery a. Ramon                                       |
|                               | EDWARD D. MANUEL, Chairman                            |
|                               | TOHONO O'ODHAM NATION                                 |
|                               |   |
| ^                             | Secretary on the <u>09</u> day of                     |
| June                          | _,20 <u>00</u> , at <u>2:35</u> o'clock, <u>P</u> .M. |
| Denise M. Sh                  | nfin  |
| Julianna Saraficio, Acting Le | 1.7   |
|                               |   |
|                               |   |
|                               |   |
|                               |   |
|                               |   |
|                               |   |
|                               |   |
|                               |   |
|                               |   |
|                               |   |
|                               |   |
|                               |   |
|                               |   |
|                               |   |
|                               |   |

ACTION: ESTABLISHING THE LIVESTOCK FACILITY PROGRAM WITHIN THE NATURAL RESOURCES DEPARTMENT

MOVED: COUNCILWOMAN EVELYN JUAN SECOND: COUNCILWOMAN FRANCES MIGUEL

DATE: JUNE 05, 2000

| DISTRICT           | LEGISLATIVE<br>REPRESENTATIVES            | # OF<br>VOTES | FOR | AGAINST | NOT<br>VOTING | ABSENT |
|--------------------|---|---------------|-----|---------|---------------|--------|
| SIF OIDAK<br>171.8 | 1. MARY ANN ANTONE<br>(Darlene Andrew)    | 85.9          | Х   |         |               |        |
|                    | 2. RITA MARTINEZ (Nicholas Jose)          | 85.9          | х   |         |               |        |
| SELLS<br>372.7     | 1. DENNIS E. JOSE                         | 186.35        | x   |         |               |        |
| 372.7              | 2. EVELYN JUAN                            | 186.35        | x   |         |               |        |
| SCHUK TOAK         | 1. MARY FLORES                            | 66.7          | x   |         |               |        |
| 133.4              | 2. AMBROSE ENCINAS                        | 66.7          | х   |         |               |        |
| SAN XAVIER         | 1. TONY BURRELL                           | 82.95         | X   |         |               |        |
| 165.9              | 2. DENNIS RAMON ( )                       | 82.95         | x   |         |               |        |
| BABOQUIVARI        | 1. FRANCES MIGUEL                         | 143.25        | х   |         |               |        |
| 286.5              | 2. FRANCES G. ANTONE<br>(Edward N. Kisto) | 143.25        | Х   |         |               |        |
| GU ACHI            | CAMILLUS LOPEZ     (Louis Johnson)        | 104.8         | X   |         |               |        |
| 209.6              | 2. ALEX J. RAMON ( )                      | 104.8         | х   |         |               |        |
| PISINEMO           | 1. BARBARA SALVICIO                       | 78.4          | х   |         |               |        |
| 156.8              | (Alex Antone) 2. JOHNSON JOSE ( )         | 78.4          | x   |         |               |        |
| SAN LUCY           | 1. ALBERT MANUEL, JR.                     | 64.05         |     |         | X             | х      |
| 128.1              | 2. GLORIA RAMIREZ                         | 64.05         |     |         | x             |        |
| GU VO              | 1. FERN SALCIDO                           | 80.0          | X   |         |               |        |
| 160.0              | 2. GLORIA MONTANA<br>(Phillip Antone)     | 80.0          | X   |         |               |        |
| HICKIWAN           | 1. SHIRLEY MOLINA                         | 79.05         | х   |         |               |        |
| 158.1              | 2. LLOYD FRANCISCO<br>(Susan Sam)         | 79.05         | X   |         |               |        |
| CHUKUT KUK         | 1. KENNETH WILLIAMS                       | 111.3         | x   |         |               |        |
| 222.6              | 2. DAVID GARCIA (Mary Audrey Juan)        | 111.3         | x   |         |               |        |
| Т                  | 2,165.5                                   | 2,037.4       | -0- | 128.1   | [01]          |        |